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% 7 fir i wmo | n
FrErdb— 1 AFEFX | kEh HFERL N | K 0.15 ha 11
Hmdb— 2 ApEkkt X | it FERdl HP | £ 0.05 ha 11
HrErdb— 3 AEFX | EH HFERL N | K 0.23 ha 11
Hmdb— 4 ApEko X | it FERdL HP | £ 0.18 ha 11
FrErdb—6 AEFX | EH HFERL AN | K 0.20 ha 11
HILm — 1 ApEkk X | Wt HELm HPA | £ 0.70 ha 11

SlH SR — 1 AEFESHIX | R 8 H S ERT AN | K 0.49 ha 3
G H SR — 2 AEpERk X | "R 1 H AN EET HPN | K 0.08 ha 8
Sl H SR — 3 AEFESHIX | R B H S ERT N | K 0.08 ha 9
G HNET — 4 AEpEfRkHi X | Wk 1 H AN EET HPN | K 0.08 ha 8
TTIRIAT 2 — 1 ApERRi X | PR JTIRIT — T H HN | K 0.05 ha 3
TLIRMT 2 — 2 ARRERRMIX. | PRI T yT3RIET — T H HP | K 0.10 ha 3
TTIRIT 2 — 3 APERRiX. | PR JTIRIT — T H HN | K 0.11 ha 3
TLIRMT 2 — 4 ARPERRMIMIX. | AR T {T3RIET — T H M | K 0.10 ha 3
TTIRIAT 3 — 1 APERRiX. | "R JTIRT =T H HN | K 0.20 ha 3
(LYY 3 — 3 AEpEREHIIIX | MR JTRIT = T H M | K 0.23 ha 3
TTIRMAT 3 — 4 APERRX. | "R JTIRIT =T H HN | K 0.13 ha 3
(LIRIET 3 — 5 AEpEREHIIIX | MR JTRIT =T H HPN | K 0.30 ha 3
TTIRIAT 3 — 6 APERkiX. | PR JTIRIT =T H HN | K 0.10 ha 3
(LIRIET 3 — 7 AEpEREHIIX. | MR JTRIT =T H HPN | K 0.08 ha 3
TTIRMAT 3 — 8 APERkiiX. | PR JTIRIT =T H N | K 0.08 ha 3
(LIRIET 3 — 9 AEpEREHIIIX | MR JTRIT =T H PN | K 0.12 ha 3
TTIRMAT 3 —10 APERRMX. | PR JTIRIT =T H HN | K 0.10 ha 3
TLURIET 3 — 11 AEpEREHIIIX. | MR JTRIT =T H HP | K 0.07 ha 3
TTIRMAT 3 —12 APERRX. | PR JTIRIT =T H HN | K 0.30 ha 3
TLURIET 3 —13 AEpEREHIIIX. | MR JTRIT = T H M | K 0.09 ha 3
TTIRMAT 3 —14 APERRAX. | KT JTIRIT =T H HN | K 0.16 ha 3
LIRIET 4 — 1 AEpEREHIIX. | MR JTSRITIY T H M | K 0.12 ha 3
TTIRIAT 4 — 2 APERR X | PR JT3RITIY T H HN | K 0.06 ha 3
(LRI 5 — 2 AEpEREHIIX. | MR JTRIT f ] H HP | K 0.07 ha 3
TTIRMAT 5 — 3 APERRX. | PR JTIRAT H T H HN | K 0.17 ha 3
ILOARKT — 2 AFERRHIMIX. | IR THT JT.OAHT A | A 0.05 ha 4
ILOARRT — 3 ApefFMiX | R {TOARRT HN | K 0.08 ha 1
ILOARKT — 4 AFERRHIMIX. | R THT JT.OAHT AN | A 0.25 ha 4
FEH1—1 APERX | kil FH T H N | 9 0.17 ha 2
FH1—2 AR | lRET FH—TH N | K 0.17 ha 2
FEH1— 3 AERX | kT FH T H N [ 0.11 ha 2
FH1—4 £jEHX | RET FH—TH N | K 0.28 ha 2
FH2—1 AFERHMX | HT FH _TH N [ K 0.74 ha [REBHEEM 2
FH2—3 AERHX | lRET FH_TH N | K 0.22 ha 2
FH2—5 AFERMMX | HT FH_TH M [ # 0.61 ha 2
FH2—6 AEfEHX | KHET FH_TH N | K 0.05 ha 2
FH3— 1 ApERHMX | HT FH=TH
KOWKILERTH #N | A 1.72 ha |RiFkk 1.2
FH3—2 AFERMMX | HT FH-=TH N | K 0.22 ha 2
FH3— 3 AERHX | lRET FH-TH N | 1.12 ha 2
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FH3—5 AFERMMX | WHT FH-TH HN | K 0.33 ha 2
HH 3 — 6 MEFERMIK | T A0 =T H Py L 49 0.21 ha | 2
AFH4—1 ApEFMMX | T AR T H HiN | ) 0.18 ha 2
AH4—2 ApEdtiX | i FHNTH HiN | ) 0.18 ha 2
FHA4—3 APt | R FHA T A HiN | £ 0.41 ha 2
B — 1 eI X | T bl HiN | ) 0.58 ha 5
LIl — 2 AR | REHT L HiN | ) 0.05 ha 5

IEEET — 1 A pERRMIMIDC | R b 1 RET N | A9 0.81 ha 8

LR — 2 A-PERRHIIX | KT bl RS HiN | 49 0.28 ha 8

L SEET — 3 A pERRIMIDC | R b 1 EET N | A9 0.11 ha 8

LR — 4 APERRHIIX | KT bl RS HiN | £ 0.09 ha 8

LI SFET — 5 AR pERRMIMIDC | R b 11 RET N | A9 0.05 ha 8

LR — 7 APERRHIIX | KT bl RS HiN | £ 0.06 ha 8
JIEEHT — 1 A:peigedtitth X | W T J1SEHT HiN | ) 0.27 ha 10

AL — 1 AEpEiRIt | T ek — T H Hipy | %) 0.07 ha 8

AL 2 — 1 ApERkMip | R AL T H HiN | % 0.11 ha 8

S 2 — 2 A pERRiIC | WO AR TH M | A9 0.23 ha 8

Fidb 2 — 3 ApEREHHIX | WREATT FEAL =T H HAN | 4 0.06 ha 8

S 2 — 4 A PRI | WO AR TH M [ A9 0.06 ha 8

FEAR 3 — 1 AEpERRHIHIX | T AR =T H HIPY | #90.28 ha |ErhgERiR 13

FEEpAL S — 2 /EpERMMEC | Wi b = TH M | K9 0.13 ha 8

il 3 — 4 ApEREHHIX | WREATT FEAL =T H HAN | 4 0.44 ha 8.13

JEHAE 5 — 2 ApERRiIC | WO AR TH M [ A9 0.18 ha 13

B 3 — 1 ApEREHIHIX | WREATT EEHH =T H HAN | 4 0.29 ha 13

R 3 — 2 ApEiRIIMC | T R =T HiN | %) 0.17 ha 13

R 3 — 3 APEREHIHIX | WREATT EEHH =T H HAN | 4 0.20 ha 13

RT3 — 5 AEpEiRIMIMC | W T R =T H Hipy | %) 0.04 ha 13

FEE 4 — 1 AEPERMIHIX | R SEE Y T H PN | A 0.13 ha 13

R 4 — 2 AEpERRIIMC | W T Y T HipN | %) 0.07 ha 13

FEET 4 — 3 ApEkMP | R R T H HiN | ) 0.03 ha 13

RS — 1 AEpEiGIIMC | W T SR T HipN | K 0.16 ha 13

BT S — 2 ApEmi i | SR SRR T H HiN | ) 0.05 ha 13

SRR 2 — 1 PR | R R T HiIN | £ 0.07 ha 13

PR 2 — 2 AEPERMMX | Wk I TH M | 9 0.22 ha 14

Pedbsr 1 — 1 AEpEftit X | ok et — T H HiN | ) 0.05 ha 8

PedbsE 1 — 2 AEpERkipe | R EEF— T H HiN | % 0.17 ha 8

PedtSF 1 — 3 AEpEfgttitiX | IR et — T H HiN | ) 0.05 ha 8

PadbsE 1 — 4 AEpERkipe | R EEF— T H HiN | % 0.07 ha 8

PedE=i 1 — 5 /EPERMIMI | R e — T H HiN | 49 0.07 ha 8

PFEdESE 1 — 6 ApEdinie | SR fEETE T H HiN | A 0.13 ha 8

PedbsE 1 — 7 ApEftitX | IR et — T H HiN | % 0.06 ha 8

Vedbsp2 — 1 Acpeidtitn X | ORI T et sF — T H Hipy | 4 0.12 ha 8

Vedbsr 2 — 3 /EPERRMIMIX | IR Pty T B #iPy | £ 0.16 ha 8

Ved=F 2 — 4 ApERRMIMIX | IR EHFTTH HN | K 0.52 ha 8

PedtaF3 — 1 AEpEfgttiitiX | iR ety = T H MY | 9 0.22 ha 8

PedESE 3 — 3 ApEdi i | SR PEETE =T H N | A 0.11 ha 8

PedtTF 3 — 4 AEpEigitX | IR fEdESF — T H HiPN | K9 0.06 ha 8

PedbsE3 — 5 ApEmktiiX | R HHEF =T H HiN | ) 0.03 ha 8

Pedtsr 4 — 1 AspEfgdthin X | R ¢edESFIU T H M | A9 0.25 ha |[EFpREGER 8

PEdESE4 — 2 AEpERkHi X | ki RSN T H HIPS | #9 0.25 ha |Erh iR 8
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VedbsFd — 4 AEpER X | R S T B HN | K 0.12 ha 8
EHFREAE— 1 ARG | kT EAFEAE MY | 0.20 ha 8
EFESFm A e — 2 et X | "RE T e SFrE A T N | K 0.17 ha 8
TEHFREMNE— 3 AREFEHMX | RHT EHFENE
FOTHEILE—-TH HHN [ £ 0.13 ha 8
IHNEdE— 1 e | k@ LA ATk M | K 0.11 ha 8
HANEIL— 2 AFEHGHX | RET A AR N | K 0.10 ha 7
LANEdE— 3 ApERHX | kid A8 Edk HN | 0.10 ha 7
HANEAdL—4 AFEFHX | REd AN R N | K 0.09 ha 7
THNER— 1 e | kA LA BN EH HN | K 0.08 ha 8
HANEHR -1 AEGHIX | RETH AANEHE AN | K 0.60 ha 8
AT — 1 e X | kA AN ER M | K 0.09 ha 8
RAE—1 A X | REdH R N | K 0.08 ha 12
THRIEE— 1 ApEsmX | kih TRISE HN | K 0.38 ha 8
THIEE— 2 AgimX | kih TRIUEE HIPY | A9 1.03 ha |[MEJESEA L E IR 8
THRIEE— 5 AEsX | kid TRISE MY | 0.14 ha 8
TRLPTEL — 1 ApERMX | REf TRUE—-TH #N | A 2.92 ha 2
TELAE1 — 2 ARt | REH FREUE—TH #N | £ 0.05 ha 2
TRLPTE 1 — 3 ApER#HX | RETH TRUME—-TH #N | A 0.27 ha 2
TELE 1 — 5 AR | REH FREUE—TH #N | #  0.14 ha 2
TRULPE2 — 1 ApERHX | RET TRUME_TH #N | 4 0.43 ha 2
TR 2 — 2 Akt | REd FHRIOME_TH #/AN | & 0.37 ha 2
THRILAPLE— 2 A | i TERILANE N | 9 0.36 ha |[fEHSFR LG AR 8
THELPE 1 — 1 e | RET FRLE—TH HN | 0.05 ha 2
TRLPE2 — 1 ApEGHHX | kT TRMLPE = TH  HN | # 0.06 ha 3
THLPE 2 — 2 ApERX | kAT FRLE_TH HKN | 0.12 ha 3
TEILAES — 1 AR | kET TEILUFE=TH HAN [ 0.21 ha 2
TR — 1 AEpEGX | RET FRMLEMNTH BN | 0.16 ha 2
TRLPE6 — 1 ApEGMHX | T TRMLPENTH  HN | 8 1.40 ha |[EHsEHR 2
TEHEILIHEA — 2 ApEGEMX | id TEILEMTH HA [ 0.05 ha 8
PRI — 1 AR X | sETH e AN | K 0.17 ha 8
FKAT 1 — 1 ARERERMMX | Wk SEKET— T H M | K 0.11 ha 3
FEKET 3 — 1 ApERRHHX | PR BRI =T H HN | K 0.19 ha 3
FKHT 3 — 2 ARERERMIMX | Wk SEKET =T H HPN | K 0.06 ha 3
FKET 3 — 3 AEpERkHHX | PR FAKAT =T H HN | K 0.05 ha 3
FKHT 3 — 8 ApERERMIMX | Wk KT =T H M | K 0.08 ha 3
FKET 3 — 9 ApERRMIHX | PR BRI =T H HN | K 0.05 ha 3
FKMHT 3 —12 ARERERMIMIX | Wk T FEKET =T H PN | K 0.12 ha 4
BT — 2 ApEERRiHX | SR TH ST N | K 0.15 ha 3
BT — 3 AEPERRHUMIX | DR T T HN | K 0.09 ha 3
JRRT 1 — 1 ApERkii X | sk JRRT— T H AN | K 0.11 ha 8
JRRT 1 — 2 ApEREHIX | PR JRIT— T B HPN | K 0.18 ha 8
JRRT 2 — 2 ApERE X | PR TH JRIT — T H M [ #0.05 ha 8
JRNT 2 — 3 ApEREHIX | PR JRIT T H WA | 0.25 ha 8
JRRT 3 — 2 ApERE X | Pk T JRRT =T H M | F0.48 ha 8
HOMMT— 1 AEpEfkHX | BT H O HET WA | 0.06 ha 14
JRZET — 1 AR | SR JAET HN [ £ 0.09 ha 4
JIEHT— 4 ApERHX | RATH EEHT WA | 0.07 ha 4
PENS AT — 1 ApERki X | R T RS T M [ . 0.10 ha 8.9
FAA M 2 — 1 ApERX | RETT el — T H N | & 0.06 ha 1




4 g 7 & i} T i =
B4 2 — 2 ARt | RWEH A T H M [ # 0.16 ha 4
FAIEZE 4 — 1 AEpEfiiX | RET FIEZE T H N | A 0.11 ha 14
FIIEZE 4 — 2 /ApEfgiX | Rl FIEZ2E0U T B M [ 0.11 ha 14
FAMKE 1 — 1 ApEftiiX | RETT KA —T H N | K 0.06 ha 10
PR 2 — 2 ApEfgiiX | iRl FRE T B HAN | % 0.18 ha 10
FAMKH 3 — 1 AEpEfktiiX | RET FKE =T H N | & 0.06 ha 4
PRiL& 4 — 1 AFERE X | i dkilBMT B HAN | % 0.37 ha 2
PRilE 4 — 2 ApEfkiitiX | klEd gkil&EMU T H N | & 0.08 ha 1.2
RILA 4 — 3 AFERHX. | i Mkl T B
EOERMNTH KN [ 0.80 ha 2

FRiLB 5 — 1 ApEREHX. | i $kilBH T B
FOFEA=ZTH PN [ 0.63 ha 1.2
WM — 1 AEiX | W (LETS N | K 0.06 ha 12
IWAHE— 2 skt | kE T (L FA TS HN | K 0.06 ha 12
WHdE— 1 At X | smEd i Ede N | K 0.05 ha 6
HPE 1 — 1 AEpEigtii] | ki (WHPE— T H M | K 0.05 ha 12
WEHPE 1 — 2 AFEREHX. | R (W —T B HN | K 0.07 ha 12
IHPE 3 — 2 AEpEfgttiiX | ki (WHPE = T H M | K 0.10 ha 7
(LHPE 3 — 3 ApEfkiHiX | k™ (HHE =T H N | K 0.58 ha 7
WHPE 3 — 4 AEpEigttiiX | ki (WHPE =T H M | K 0.70 ha 7
(AL — 1 AFERRHIHI | R (W — T H HN | K 0.49 ha 7
(U1 — 2 AEpERRiHX | "k (LEHE—TH HPN | K 0.07 ha 12
(B 2 — 1 ApERHHX | kM (HHE T H HN | K 0.28 ha 7
(LR 2 — 2 AEPERRMHX | Wk (IUEHE T H M | K 0.25 ha 7
(B 3 — 1 ApERkHX | kM (HHE =T H HN | K 0.09 ha 7
(U3 — 2 AEPERRMHX | ki (ILEHE =T H M | K 0.09 ha 7
(B 3 — 3 ApEfktiX | k™ (HHE =T H HN | K 0.10 ha 7.12
(LA 3 — 4 AEPERRHX | ki (ILEHE=TH M | K 0.13 ha 7.12
(B 3 — 5 ApEfkiX | k™ (HHE =T H HN | K 0.06 ha 7
(U4 — 1 ZEpERRHX | Wk (LA T H HPN | K 0.06 ha 6
(B 4 — 2 ApERHHX | R (HHEM T B HN | K 0.06 ha 6
(LA 4 — 3 AEPERRMHX | Wk (LEHAEM T H WA | 0.37 ha 6
(B 4 — 5 ApERkHHX | R (HHEM T H HN [ £ 0.06 ha 6.7
(U 4 — 7 ZEPERRMIHX | "R (LA T H WA | 0.11 ha 7
IR — 1 ApEfiii X | "R (LR AN [ 0.12 ha 12
(UFAT 2 — 1 ZEpERRMIHX | "k (LR T H WA | 0.31 ha 9
(PR3 — 1 ApERRHHX | kM (TR =T H M [ #0.34 ha 9
FEPHT — 1 AEFERGHX | I 5 EPRET WA | 0.06 ha 4
IR — 2 AcpERRMIHX | SR TH PR HN | #0.08 ha 4

181 #ii[X #) 39.58 ha
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